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5
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A-FN

General Knowledge

Where was Munshi Premchand born? Q1 Hef R @ R T Een o
{A) Kanpur [.i,}-—lﬁl?-lﬁ‘é

{B} Arampur (B} MR

{C) Ghazighad {C) TS

(T} Waranasi

Which of the following is the oldest U2 f’“’ﬂ" aftr % A we "’”Fm“* ey W
uniwersity in Uttar Pradesh? ik v b 1 Rallda -

{A) Aligarh Muslim University I%_W i AT
{B) Banaras Hindu University
{C) Mahatma Gandhi Kashi Vidyapeeth EE!] Eﬁ&%

() Allahabad Central University

Qy  wEe wen o fve e @Y gd & oA @

Which Uttar Pradesh city is known us the
SR i I i

“rasse of the East™?
{A) Gorakhpur ::: ﬂhﬁlgﬂ
(B} Moradabad 4 e
{C) Banaras - :1#'?2
(D) Kanmauj
5 b By
Whizh neighbouring country ﬁ#ﬂm“ﬁ; Aa. éb m iﬁfﬂjﬁ H TS I G &
_amdor e Thunder Dragon 7 Nef
(A} Burma :E]I ol
(B Mepal 1

(21 Bangladesh A
(D} Bhutan _ (B qET

Kazwo Ishiguro won the Nobel Prizein 2017 Qs 2017 3 s g e e #
for which discipline? qeedre e ar?

{A) Chemisiry (& Tam fam

(B} Physics (B) s faam

(C) Mathematics () T

(D) Literature (D) #nigT

Qf  ulEET w4 fRum @ oed wfee
Who was |l-.= first w-ﬂm“sa:gﬂ buf;l-‘u'rl C OB 7 47

Opposition in the Pakistan

{A) Bilawal Bhutto Zardari (A) ﬂﬁ'{ﬁﬁ el T
(B} Benagir Bhutto gm

{C) Sherry Rahman [ |

(D) Mumiaz Mahal () e Hewl
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Qi

Q12
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What is India’s cruise missile with seeker Q7 ¥R TS e e @ g Rega

technology called? A T OR?
{A) Prithwi (A) et
{B) Garuda (B) TEFS
(C) BrahMos
{[) Narayan NIEEIL L]
How many trans-border trains operate Q8 WEd afiw o & fra fee or—der
hetween India and Pokistan? 29 Te &7
(A} 4 A) 4
(B) I | (By 1
(C) 2
L Jobriva.c®m
Which company was recently implicated in 00w # A ol §fvaes 2er 919 e | T
& global data theft crime? T WA AT w477
{A) Amazon LAY e
(B) Google (B) pra
(C) Cisco (C) Fwmt
(D) Cambridge Analytica NEIET
In December 2017, the 15th Russia-lndia- QI0 158 Fe-wRa-E B B df)
China Trilateral Foreign Ministers’ Meeting i odew Ay 2o 8 i Ed
was held in ; )
(A) Shanghai (A wiamE
(B) Beijing (B} wrfa
(C) Moscow (Cy #r=h
(D) New Delhi (D) 78 Rt |
The large-scale expansion of the British rule QI i A faftw s = v v w e
in India occurred through subsidiary wEmE gl & TRAW # g W e
alliances, which was started during the WP, i CoR U E
Governor-General ship of . ma o
(A) Lord Warren Hastings b _ml;z%g dfee ifems
(B) Lord Cornwallis JODTIYA. (hy G wrtfra
(C) Lord Wellesley (C) wid detoreh
(D} Lord Clive (D) #id ety
After the death of Guru Gobind Singh, the Q12 % AT Ris @ ey @ e, TE @ e
institution of Guruship came to an end and ware @ g o Rl @ e e
the leadership of the Sikhs passed to his fervarerfr PBrar w1 | fam
trusted disciple ; | '
{A) Ranjit Singh (A) ool fiie
(B) Banda Bahadur (B) @ aergy |
(C) Ajit Singh
(D) Jujhar Singh (D) g fHig
4 SET-13
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Q14

Q15

Q16

o7

018

A-FN

The name Pakistan was first coined by (ol k B o B E— _ gawT
. TET TN

{A) Mohammad Igbal (A) HiEeE ST

(B) Mohammad Ali Jinnah By sewE el e

{C) Choudhry Rahmat Ali #I-:]l et TEmm A |

(D) Maulana Azad ([¥) At ST

Rabindranath Tagore renounced his Q14 wilgra 2 A Ao TEEEs A S

knighthood in protest of the R il _ o e o wis B

{A) Cabinet Mission (A) Hfee e

(B) Jallianwala Bagh massacre [(B)_stferamEmsm aF TwEee |

(C) Rowlan Act (Cy T qae

(D) Simon Commission () g e

The river Godavari originates in the state of 15 e 48 @ ST W s TR

: AE

{A) Madhya Pradesh (A) A w59

(B) Chhattisgarh (B) weltEme

(C) Maharashira licy s |

() Odisha (D) atfEm

Which of the following is the largest Ql6  wwE B e a8 A e e T AR

freshwater lake in India? _ #?

i A% Dal Ln.kl." JO briya.comy = i

\8) Lokiak (B)

(C) Chilika (C) ferem

(D) Wular (DY e

The law-making procedure laid down in the Q17 wedg wiiwe A @rE T @ Pl

Indian Constitution has been considerably i By B R — e

influcnced by the Constitution of g et 21

- (A) = anite

(A) South Africa (B) =

(B} Ciermany ) T

(C) Japan |§ g apfE

(D) the LSA

The Right to Education (RTE) Act was Qi fiwr = RER (i) afEfm o .

enncted by the Parliament of India in the year
(A) 2006
(B) 2007

(C) 2008
(D) 2009

_ # wrm & wwe gw aafai
ol

(A) 2006
{(B) 2007
(&Y 2008
(D) 2009

SET-13
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Q20

Q21

Qa2

Q23

o)

A-FN

Muaharaja Sawai Jai Singh (Jai Singh I1) s¢1
an astronomical ohservatory at ____ .

(AN Ujain

(B} Shimia

(C) Bharatpur

(DY Jodhpur

The Linion Health Ministry launched a single
vaceine for dual protection against
as pari of the Universal Immunisation
Programime.

{A) measlesand rubella

(B} measkes und mumps

(C) rubella and tuberculosis

(D) inMuenza and mumps

Which of the following districts of Utar
Pradesh has the highest population as per
the 2011 census?

(A% Gorakhpur

(B} Lucknow

() Allahahad

([0} Bareilly

Which one of the following princely states

Q19 srereran wad o Fie (wa e i) A
I ﬁurﬁmmwﬁﬁaﬁn

(B} FH
{C) R
(DR

oo0  afEet P i w S
T HHEAT T sl 3 freg 3
gy @ forg wee o @ g
(A) @aN 3wl o s
By T d.C0Im

ey e AN Al
MERGuEIRE Gl

Q21 2017 @ SRR & SEARE S Odn @
e foret o orem wEd T 8

(A) TTETE

(BY TS

i[llf]l GelTETRI=S I
(D 4

Q22 Preqfafn o & Fre Rawem 3 10e7 7

announced its accession to Pakistan i | " qife # foeet o shgen @ ) A
Jopriya.c

but was later forced to join India o
plebiscite result”

(A} Rampur

{B) Junagarh

{C) Faridket

(D} Porbandar

Which one of the following Indian staies,
docs NOT have the Tropic of Cancer passing
through 17

{A) Rajasthan

(B} Tripura

(C) Mizoram

(D) Uniar Pradesh

Which of the following Indian states does
NOT have a bicameral legislature?

{A) Uttar Pradesh

(B} Jammu and Kashmir

() Tamil Nadu

(D) Karnataka

G e wE & A g% S § e
g @ oy TorE g uE u

(A) WAYR

(B} WPl |

& EEmama

L5 s

(D) YrEae

023 Eorrrrrtiae wredta vt 4 9 R A D AE
a8 AT 87
(A) TR

Q24 et wredrm el 4 @ Rew e §
e fum vea == 87
(A) TER Wa

(B) 95 79w
I(Efa%ﬁvi |

(D) HAIH
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Who was the Chairman of the Union Power
Committes of the Constituent Assembly of
India? :

{AY Dr. Rajendru Prasad

{B) JB Kripalani

{C) Sandar Vallabhbhai Patel

(D} Jawaharlal Mehru

The ancient mathematics book Gianita-Sara-
Sangraha wasauthored by .

{A) Bhaskarachorya

{B) Mahaviracharya

{C) Arvabhatt

(¥ Brahmagupia

Who has written an English book
“Unleashing India™ which outlines how India
can become a superpower in 25 to 30 years?
(A} Vecrappa Moily

{B) SM Krishna

{(C) Shashi Tharoor

{D} Manohar Parrikar

x5

Q26

Q27

wr i sl aen Y e onk bk @
w7

(A2l TefE wEE

TEE]D

(C) WG S6 E gl

([¥) NEIET H@TH TS

WA TR g TRE—AE—ATE
BT ol w o
(A) T
| (B) mediae |
(e wrdng
(D) s

e w sl gead i gfEar
ﬁﬂ’rﬁ i R E R L G

B?
Higell
{B) UaUA G
(C) miftr &wm
(D) =i uffe

[n Do.'l:':mbﬂlﬂlﬁ,lndianﬂaiﬁa‘;;%%m"ﬂ %ﬁ‘ﬂjﬁhﬂﬁ 2016 W W ta A amg fimw

the first Humsafar class of trains between
Anand Vihar and

(A) Allahabad

(B) Gorakhpur

(C) Varanasi

(D} Ballia

The famous Sufi Saint Sheikh Salim Chistiss
Dargah is situated at _in Utear
Pradesh.

{A) Jaunpur

(B) Kannauj

(C) Fasehpur Sikri

() Barabanki

Which ig the third highest peak in the

Himalayas?

{A) Mount Lhotse

{B) Mount Makalu

{C) Mount Fuji

(D) Mount Kanchenjunga

029

Q30

e _ & Wra el suae A @
o @ g A
(A) FORME

(B} Wy
(Cy e
() wierm

wftg St win drew wef Fasl @ g
SEN WEH & H Fem 8
(A) e
B} #=i1a
(et e

(D)

favmera 1 dere w4 gg e &9
&

(AyTIFEE T
(B) HIGE W
(C) mige g
() Are wemwim
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Q31

Q32

233

034

Q35

36

A-FIN

“What is the state flower of Uttar Pradesh?
(A Rose

(B} Margold

{7 Jasmine

(I} Palash

Where is bile produced in humans?
{A) Stomach

(B Pancreas

{C) Liver

(D) Gallhladder

When was the National Human Rights
Commission set up in India?

(A) 2000

(B) 1995

cy 1993

(D) 1950

Which of the following diseases is caused
by fungi?

(A) Tonsillitis
(B) Gallstones
(€] Heart attack
{3} Ringworm

Which Indian state accounts more than one-
third of sugar production and output as of
W0i6-177

(A) Cujarat

(B} Uriar Pradesh

(C) Maharashtra

(D} Karnataka

The original document of the Constitution
of India was handwrilten by

(A) Dr. B. R. Ambedkar
(B) Sarojini Naidu

(C} Prem Na.:'ﬂngl’
(D) Dr. ArPata =

com

Q31

Az

Q33

034

uuljri}.ﬁ

()35

Q36

Fow wadw et oA w0 e BT
(A) Toira

(B)

() T

I[U'Lm

Tt # e @ awres B s 8 g
#

(A} T2

(B) Fr=ama

() firme

(D) fommema

e AR W aEa 6 3 (o)
i g v

(AT 2000

(B) 1993

(C) 1993

(D) 1950

Frerfafian 97 § @ SR W oa9 TEE

WL st o
A ST (i)

(By famem 3 qurd
() e &1 91

(Dy-Ta

forn vl W A 201617 A WA
geieg w9 a vE REE 9 afis O
aeaTed T 27

[A) T[T

(B Omm Wed

(C) wEmes
(D} @IS

HTed o W @ SRS B .
Hulc K R EE IR s

(A) E1 @ s s

(B) TR g

(C) T T e

(L 1, WA e
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37  What is the chemical name for Vitamin BT? Q37 Faefim BY & T A BT
(A) Pantothenic Acid () tEnE ufi
(B) Biotin L) amifs |
{(C) Ascorhic Acid (C) et yiis
(D) FolicAcid (D) witees Thra
(038  Where was the hockey legend Major Dhyan Q3 B fevrm Awe earEeEE W EET SN
Chand born? ey
{A) Kanpur (A) WgE
(B} Lucknow (B) &t
(C) Meenut () T
(D) Allshabad ([¥) FeATEIwmE
General Hindi
39 Prefaftan o oga o - (243 'ﬂﬁﬁ—mlﬁﬂﬁmﬁﬁﬁmmiﬁﬂ
T | B
(©) s - il
(D) (€) T
(D) ArT—aE
Py ohriva ear
Qin e aw frww B JORFIY2.COIM o 4 guard &
V). T8 (A} T
(B} i (B) T
(C) Fmr
(D) ST (D) wra
Q41 e o @ef T g - 45 e 4 werg #-
(a) ot (A) 3=
(B) BT (B) @2
(C) Favmg- () e
(D) &4 (D) AT
Qa2 ol sy B Frer & @ R ow W Q46 mETewE W HiE-fraby 8-
EHT— {A) 5E1 + SFHe
3 (B) TET 4 SoHd
-~ a.Com {C) A + e
(C) (D) W 4 9SEE
- (D) oW

A-FN
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@47 B3 oy W ) aam s A i Q34 AR TH T T WA E-

(A} B (A) B
© Q P
()
(D) =} (D) S
Q48 T;ﬂg*ﬁmma-- Q5SS _SIET @ guw v A Beed e end 87
{B qaed (A) 11-
I_lE}_:lﬁ‘]_ (B) 12
) iy
(D) 14

Q49 udt R & 0 @ are 87
m i Q56 Fefafm § #F-o vewEr 8

(B) *# g (A) B
A =] {H] b
[0 o et — C) s

Qs0 Pt % & s -

(A) ST Q37 e # & e eafd -
(B) e (X%
Cy g iB) 4
oEmm
-
Q51 R A ph o a pe ae L a.cbh
(A) ! Qss  frer & & el mb s 27
(B} . (A) =
(B)
(D} Cre
Qs2 o
Q59 Frer 3 @ s ne e #7
(A) 9TER
(B) T
(C) HEAE
Q83 (D) ¥=p1
A) sl sl g Er # Qeo  Frer # F - T gfisin 87
[[‘Egrﬁﬁﬁmﬁmﬁ"ﬁmmajﬂﬂm A
2 -ii.:-f.'lf-lﬁi”
(C) W @ ATGA A9 w1 A e (C)
2 (D) Hrran

(D) qf3 wa=1 At s SR 8

AN 10 SET-13



Q61 TaFm we o et wE agges # el 87
{A) THF
[
(Fa}y o
62 = P s @ fiem 87
(B) &%
(C) 0
Dy Twar

063 Preafafien 4 waem 8-
(A} B
(B) 3L~
(C) wEE
(D) w7t

64 Prerfafaa A R #-
(A} oF

(By ggm
() wHE

Q67

aft M oow g v @ P wn el g
g favm 2 F g &) 9% 6 & e
| T T TEA AR T E aw #
fr ot & 79 afiifias § s A wofoes
a8 =it wg | g @ ei-un sk,
Pl gt & wftpmd oft e & 8=
A AT P g ) aef) eie o R
T T8 ATl W AT 6 e o A
wivmaT w1 T & | wer A P w w
#r Faeare &7 U offt Aeam o gamEta
Egeh ereemrdt vt & o gwd st R
E L R o e R R
et va uf¥wrm H Wi e o g
¥ wimf & wm e At B
e o il o gEe @ ondl A B
@ T Wl ol g g o @ e
T AT T gl T S | A
vl @ Al s & o @m oW
VR &, W & M BEerg emw e
i St

A & AuyE i &Y Hhar -
(A) e Wity

g Jobriya.colps &= = rmwe |

065 el R -
A) B

(B) =

(C) T
(D) e

Q66 EES o QI T3 & AN A e B
{A) TFT FEE
B AT
(C) wfgw= atmE
(D) ¥

fefaftm Tgore = gfdy st q@ 1
Wl (067 - 071) & Wil 9o ane e
g

WA A W I R S 4G S

Q68

820

(D i wivted

dralt & et W o e Wl B
(A) S i

(B) HOl & e

(C) gl &1 ammE

D) @i & Frg i A= |

0 e A T e [ e | -
(A) Faemfat m gitar &9 &
{B) I @ |

(C) it spedd) 8 o
(M Wl A a4

Q70 TEEE ® g g o auafdn q a8

3
(A) Fhan

&= # wEw SwwEE o i;:gjr}t]r‘iy:ﬂﬁ:mm

BW FaiA gU O g wHy ward Rl
7 o | e W S ol e B gy

A-FN

(L3
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Q71

(73

Q76

Q77

Q78

A-FM

aral 8§ ol ang ot el st free o
wify a8 A—

Numerical & Mental Ability

"VIRTUE' is related to 'Sympathy! mﬁﬁ |\ SR8 CRIR v wE T @ W 8 o

same way as *VICE' isrelated to
(A} Sorrow

(B) Cruelty

(C) Kindness

(¥ Emotion

Which of the following pairs most closaly
matches the relationship between the waords
above?

GHAZAL : FOEM

(A) Lie: Falsehood

(B} Chapter ; Book

(C) Legend : Story

I Teacher : College
‘BEHE" iz related 1w "DMGIM” in the same
way a5 “NQTW” is related to

(A) PRTV

(B} ORTU

(Cy PSVY

(D) PRUX

12

Q77

Q78

UH AT _ W v #)
(A} TG

(BY e

(C) o
(D) ¥

frreafafia 4 6 ®F & gm A9 2y
et & W Hay d e aeee e
g7

U M 1

(A) 5T - TTE
Uio . gaid

(C) Mpagdt . Furit

(D) s« qEiEeamey

fore W CBEHK ‘DGIM’ & ddfm &
! W CNOTW® W waRg #)
{A) PRTV

(B) ORTU

[i©) PswY

(D) PRUX
SET-13



Qe

R0

81

Q83

A-FN

Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.
Axe : Woodcutter ;@ Needle : 7
(A Buicher

(B) Carpenter

(C) Talor

(D) Painter

Which of the following pairs is opposite fo
the relationship between the words above?
Hatred : Love

(A} Virlue : Vice

{B) Like: Duslike

{C) Friend ;: Enemy

(D Safe : Secire

Select the alternative that is related to the
third térm in the same way as the second
term is related to the first term.
Docroe: Patients ;; Teacher: 7
(AY Children

(B Bwdenis

i) School

(D) Clazsroom

What will be written in place of the question
mark in the given sc-ies
AIY25CIGTW2307

{A) 20

(B} 16

(Cy 15

(D 18

How many T's are both immediately
preceded and followed by 'E” in the following
series?
ETETTMEEETETETETTEET
TTEEETETETETTEETE
(A) 7

(B) 6

(C) 5

(D) &

e

R0

Q82

83

Jobri

Jobriya.

Te fimen @ g7 o) ARk vy @ 9w gen
wafe & 99 UeR gAY UT oEe uE 9
wafew &)

G T e R = R

{A) e

)T

{D]i"l’ﬂmﬂrﬂj

Frifefem # % #5 & g9 = Ry
e & wey wEy 9 e &7

L2 L L)

{A) ETER ¢ AR

)

Jobriya.coi

(B) GHe . AmHs
(C) P ooy
(D) e - g

o faeen o) g W de ug ¥ S wen
Al # frw www gE0 ug 9ed 98 €@
i 1

T < <fi BE o 7

(A) =

(C) Fargamer
(D)

91 g # wefae & wE W
foear amyn?

AIYISCIGTW230N

{A) 20

(B} 16

(D) 18

Pyiforfs srmen # & R TR R
e usa aftr o § BT 87

ETETTMEEHIRTETETTEET
TTEEETETETETTEETE
R
(B) 6
JEom
(D) 8
SET-13



Q84

QRS

086

Q87

JB8

A=FN

What will be writien in place of the guestion
mark in the given series’
BH24XTGI500T?

A T

(B) R

cyQ

{mFer

What will be written in place of the question
mark in the given series?

B2I9R18T20H?

{A) 6

(B) 7

{C) 8

(D) o

What will be the 20th letfer of the sequence;
a,bbc.cedddd, b

(A) F

(B) g

(C) h

(D i

Jobriya.c

How many T are immediately followed by
“IE" in the following series?
ETIETTMEEETEITETETTIE
ETTIETIEEETEITETETEITE
LETTE

{A) 4

By 7

(C) &

(D} 5

Ramesh goes towards Morth, turns right,
then turng right again and then goes 10 the
left. Which direction 15 Ramesh facing now?
{A) East

(BYy West

{(C) Marth

{13} South

i4

Q84 & T st A wElEE & wgE g @

RS

Q86

Q87

088

foren wmgm?
SH24X7G1501 7T
(A) T

(B) R

(P

41 7 e A gwiEEs & e e e
Féremr wgn?

B2IORIAT20H?

{A) 6

{B) 7

(C) 8

T

BHa hbcocedddd 294
HET TE BIT

(A} T

(B) g

{Cy h

n
%ﬁ%ﬁaﬂﬁmﬁﬁﬂ?ﬁT#ﬁﬂ#

R | C-a [T
E{IBTTMEEETEITETETTIE

L N,
ETEM'EETEJTETETEJTH
IETIE

(A) 4
(B) 7
i) 6
(5

T T A ST S 8w HE £ i
# o gam # ol fer o awr &) om
v fre figr o ol oo &7
{A)

(D) 4w

(C) T
(D) s
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Q89

Lo

Sunita goes towards the south, terns lefi,
then tumns right and then goes 1o the lefl
Which direction is Sunita facing now?

(A) East

(B West

{C) North

(D) South

Read the following question and decide
which of the arguments that follow isfane
strong.

Chuestion:

Should a child from a not-so-affluent family

in India be allowed o follow hisTher passion?

Arguments:

1} Yes, these days if a chald is allowed to
pursue herthis interests, she/he con excel
in it, even financially,

2) No, even today our country does not
have a strong social secursty system and
establishing oneself in unconventional
fields is time-consuming and can be
financially taxing.

(A} Only Argument 1 is strong.

{B) Only Argument 2 is strong.

{C) Meither Argument 1 nor Argum 5
strong. Uﬁﬁjri

(D} Both Argument | and Argument 2 gre
strong.

Read the following guestion and decide
which of the arguments that follow isfare
strong.

Question:

Should parents invest as much in educating

their daughters as much as they spend on

educating their sons?

Arpuments

1} Mo, almost all datn points to the fact
that boys are way more intelligent than
girls.

2} Mo, though girls may be intelligent,
parents have 1o keep money aside for
their marriages,

(&) Only Argument | (s strong,

(B) Only Argument 2 is strong.

{C) Meither Argument | nor 2 is strong.

(D} Both Arguments 1 and 2 are strong.

15

(89

e qféer & sl anl 2 g ged &
e g gef @ afw fee o omh £ am
foam @1 oW @ v &7

| () g

(1) U
(C) Iy
(D) =i

fgu my wvs a1 ud o a5 Fivlg 2w &

ATETO HE AT B H T g &

¥

e & el wng ofaw A A Ta

el = @l @ WY G @ ARERT

= o AR

L

1 EQ g Rt ofd Bl o= o e
afirta o AR H9 faar oy, &
U5 59 e B A & @l aw B
e v uz @

2) A e W e B9 H A At
T WO A § A e
HORTE #E e e W
& gty # oen gy anfie v @ AR

(A 30a o= 1 m—r&mrﬁ él |

FOd O 2 THEETeT & )

}"H-EDL Y ot v 1 Al 9 8 T 2 wrEE
4

|
() a% | sl 9% 2 S0 w8

faw 70w & ol o T Pl &Y 1%
SFEES i diel i H ad e #
0=

FT Wen—fen @ anen dfeal @ e

g ¥ Foe Y wem aiew R g

an AT ) vl w4 wd e @7

T -

1y =i, et ' el gw a9
Tt & s ored el 4 w8
wifaF qigmm 8 &

2) i, weiis wfiet gRe @ wa
B wifer wmen—ren &t oud f@EE &
Ry arm & oF T TS

(A) TRIE W | WAEE #

(B) dad a2 waEmel & |

(C) =T ol o | 31 A Bl 0 2 waemen |

B

(D) w1 30 o 2 O rEEe ¥
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Q91

Q93

Lo

A-FN

Read the following question and decide

which of the arguments that follow isfare

strong,

[Juestion;

Should a cricket ieam have more than one

captain during a match?

Arguments

1) Mo, one needs to make decisions on the
spot and there won't be time to resolve
conflicting ideas between the captains
on the field if such a scenario emerges.

2} Yes, it is always better to have more
brains coming to an understanding
before taking a decision,

{A) Only Argument | is strong.

(B} Only Argument 2 is strong,

{C) Meither Argument | nor 2 18 strong.

(D) Both Arguments 1 and 2 are strong.

Q92

fau w7 uwa #1 o ale o5 ffo =4

SR e AT A 9 ad wiEee )

RS

Fy i e M fmd dm o S

e waE @9 aiRg?

G

17 i o st ae fl o el @
g =l zoen v Al 2 B e
T FEE # oy avee e Ran
TR T e Wiy i e e
ayfier = g |

2y # Fofa &= ¥ e REh Pl o
T @ 0 te H afts afss &
. BT R @ dEae dar &

(A) ®ad T | TEEE

(B) dad a2 wiand &)

(Cy maTT® | & 78 T 2 wEend)
Bl

(D) & | 30 a2 oF v &)

Which of the numbers given below isﬁéﬁjﬂb ”:‘-‘@} Uyl & o il 41 6 oy 6 of wmm

sipuare number?
(A) 1225
(B} 2025
(C) 2523
(D 4225

Select the most appropriate option 1o solve
the equation.

60+ 5x(l6-8+2)+3=

(A) 48

(B) 16

(Cy 1

(D) 32

Sglect the most appropriate option to solve
: e,

087+ 654 +321=

{A) 19.62

(B) 18.62

(<) 19.72

{r;,m.sz

ia

095

|lC] 2525

i #7
(A) 1215
(B) 2025

(D) 4225

A @ B we T H T I
e = g7

B+ 3x(16 -8+ 2)+3=

(A) 48
(B) 16
(€)1
(D) 32

it @ EA S @ (A e I
famen & g |
BT+ 654+321=

(B} 18.62

() 19.72
(D) 18.52
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(96

Q98

Q99

Q100

A-FN

Select the most appropriate option, P . - - %m %

. ! 4 Z
‘l.'r"hat|5=:2hnz-:1|1’I'12:'|m-r:-zI:nst'.rwe-mjm-ml__i T & frg & afaw @ Emm
4 4
(A T (A0 1
2 2
(B) 15 (5] 15
2 2
{C) E (Ch E
3 2
m < (D)
Select the most appropriate option. Q97 e SwE fawe o g 20, 60 3w 72
Find the HCF of 30, 60 and 72, &1 FETE FHANE (TOEE) 2R
(A) 2 {A) 2
(B) 3 (B) 3
() 6 _ (C) &
(D) 12 D) 12
Select the most appropriate option QP8 Wad Fuyaa e & g1 18, a0 ofw 24
Find the LCM of 15,30and 24, ¢ _ 1 .:. , . Ao wEEe (geedw) g
ind the o a J jif}r'n.”--‘.’:::'.GOi'@'@c— TERIH)
(A} &0 ’ {A] 60
(B} 240 (B) 240
() 180 {(C) 180
(D) 120 (oY 120

If 21 chocolates are shared in the ratio 5:2, Q99 AfY 21 =feede 5@ 2 & s § |Em &t

the smaller share willbe  chocolates. ot B o v v F e dieee
(A} 3 Bl
(B) & [A) 3
(C) 9 (B) 6
(D) 10 icy 9
(D) 10

Mahim secured 126 marks in a test out of 175, QIo0 wftw = vw gden 4 175 # 9 126 3F wrw

What was the percentage of marks obtained fapy | wrfsy e wmer by aiet @ uiterm
by Mahim? G

(A} 75 (A) 75

(B) 72 (B) 12

(C) T0.5 o - S

(D) 70 (D) 70
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Q101

Q102

Q103

Q104

Q105

Select the most appropriate option.
What is 12%0 of 357

(A) 4.6

(B) 4.4

(C) 42
(D) 4.05

By selling an item for T 434, Ramesh makes
a profit of 24%. What was the price at which
Ramesh purchased the item?

(A) T350

(B} T 360

(C) T340

(D) X375

After a discount of 12%, a toy was sold for
¥ 132. What was the marked price of the

toy?

{a) T 140

(B) T173 ™,
:’E]; :i:ﬂ 'w..-i L) 5.'} i‘i l.-f ?_

The interest earmed on T 2,500 deposited
fior 3 vears at 4% simple interest per annum
will be .

(A) T 240

(B) T250

(C) T 288

(D) ¥ 300

What will be the interest earned on T 1.400
for two years if the interest is compounde”
annually at 108 per annum?

(A) T 288

(B) T294

(C) T302

(D) T308

18

Qlo1 T wugE e B g

35 @1 12% BR7
(A) 4.6
(B} 4.4

(C) 4.2

(D) 4.03

Q02 e T e 434 WU A R 24%

Fann #1 v A a8 avg e e W)
wrird) 7

(A} 350 waﬂ

(B) 360 @07
(C) 340w
(D) 375 %0

0I03 12%  BE § @, oF RadrT 132 99 4

dar o) R w7 s gen
{A) 140 F9Y
(B) 175 ¥9Y

(C) 150 %0

Lo ™

Qlod 4% aiffs AR =1 @ 7w T 1,500

Fou & 3 e gy
(A) 240 Y
{B) 250 w0
(C) 288 wIC

|

Q105 10% oits =mgha =ma 41 5% 9 1,400

=0y A 2 W H1 s E?

A) 288 FIY
['I:j 3 =T]

(D) 308 +0¢
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106

Qa7

JH0E

Qe

A-FNM

Ravi and Rashmi invested T 130 and ¥ 160
respectively in a busingss but Ravi withdsew
his money afier a few months, I the end-of-
twelve-months' profil was sised betwesn
Raviand Rashini in the ratio 1, 2, after how

many menths did Ravi wke out his money?

{A) 4

(B) &

(Cy B

() 10

The average of 18, 27 and another numbsr
is 30, What is the third numbser?

{A) 35

(B 36

() 40

() 45

Person A can complete a job in 48 min while
B can complete the same job in 60 min. How

lang will they take (o ﬂ”"ﬁg@b}r@'ﬂ._{:ﬂi

wgether?
{A) 26 min40s

(B) 28 min 203
{C) 30mind5s
(D) 32 min 135

Rajesh can walk at Smis or cyole it 20 m/'s.
He takes 45 s to cover a distance of 6040 m
wsing & combinution of the two mades of
transport. How long did Rajesh cycle?

(A) 155

(B) Ws

{C} 255

(D} 26 s

"%

Qlos ) air oM 9 @wew 150 wOY AT 200

T @ | P e i WA
@“ﬁfﬂﬁﬁﬂﬁ'mﬁmmﬂﬁmn
afe e T @7 @ T afte el & d
® 0 :z @ s W e e ol
Bree W @ W A @O wUU aiH
P o7

() 4

{B) 6

() 10

0107 .5 37 ale T ama A e o

a0 &) dord wew w A BV
(A) 35
(B 36
{C} 40

(D} 43

Q08 =i A Bl T 48 frm W oOm s

T & wfE wfen BaE el F e

T # I R B3 AR T

@@ o W ot TR g A e
T FIY
(A} =

(B) 28 Fee 20 w08
(Cy 30 T 45 93
(D) 32 fmE 15 BFs

Q109w & Met ol fwE # 0 @ faw v

e # W 20 fre ufy dake @ nft |
wgfire o s &) A yitEe @ =
il & s W7 600 v @ gf B
Fri B AU 45 YEe w0 | T S
anzfea fvod 3 o we?

(A) 15¥#T8

(B) 20862

{C) 25 93 |




Q110 The length, width and height of a room are

' in the ratio 5 - 4 : 2. Ifthe length is increased
by 20% and the width by 25% while the

height is reduced by 25%, what w#ll happen

1o the total area of the four walls o the room?

|
{A) Reduce to 3 of the initial area

|
{R) Increase by 3 of the initial arca

I et
(i) Irru--:us'.*.tu:r]—,=l of the initial area

1
(DY Reduce by En:rfthc initial area

111 Tuhin and Pranab can individually complete
a job in 42 min and 70 min respectively.
Starting with Tuhin, they work alternately
for a minute each il the work is completed,
only the one waorking at the end allowed to
wark for less than a minute in his final turm,
How long will it take the duo ‘ﬁW
the work?

(&) 53 min

iB) 52minlds
(C) 52mini0s
(D) 52 min 40

112 Ravinder leaves home every day &t 8 am and
reaches office at 9: 30 am. One das he left
his home at & am but travelled a third of the

h

3
distance at Y of the usual speed. Al how

many times his normal speed did Ravinder
travel at the remaining part of the jcumey if
he managed to reach office on time?

(A)
- (B)
(C)

()

B3 e Efue | s

QU T E W ey, derd ot mEn
5 4 2 & apyi A & 48 A 20% i
Him 249% 73 W & onafy e 25%
w0 g wndl B o T A 9 SanEt @
B BT i ]

(A) VR graue &l % & B R

(B) WRPGE SEmc & % |3 AR

(C) wrfeE Sawe & % aZ e

(D) Wil S=nme A -é g i AT

Qill gfEa afv o el = @ aE e
42 firie 3 7o fire & g 4w wad €
T @ EER o®, g 6 g FE
g wf—ard vw-TE e wmm ) S
3 W FE e A ) el alfen e g
v e @ am aeg @F e B S
#) @ qu et A g1 ST B foer e

1y d.COMLE. .-

3 iz
| (B) 52 Fre 24 Yims |
(<)

(D) 52 Fme 40 O

Q112 T o= e 800 T W W e 8
@ 9: 30 gu s ugeen &)o@ A
;’ﬂﬁ YT 59 800 T9 By, G A

3 o R e e 58 <

o A | aFR T8 ae el gEh T
of vl W s Heg At # e
e o A & o9 T S o Y

(A)

(E)

(C)

(D)

] vie | &ajwm we

)
!
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Q113

Q14

2115

(IR

2117

A-FN

Which of the following pairs most closely
matches the relationship between the words
above?

GHEE : VANASPATI

{A) Milk: Water

By Milk: Tea

(C) Milk: Curd

(D) Milk : Cheese

Q113

i 4 @ o m gm e Ry oo
gl o WA e i Freeam wEeEn T
a7

ot ; arefy

(A) T8 @ W

(B) & : =iy

(C) 7 : T |

Mental Aptitude, 1Q) & Reasoning Ability

Which 5 the odd one out in this set;
Metre, Mile, Furleng, Acre, Yard
(A) Metre

(By Mile

(C) Furfong

(D) Acre

Find the odd pair out of the following pairs:
(A) Social Sciences : Physics
(B Mathematics : Algebra
I University : Harvard

4 Fruits : Banana

N |

Select the alternative that is related to the
third term in the same way as the sccond
term is refated to the first 1erm,
Wood : Chip :: Bread : 7

(A) Butter

(B} Crumbs

(C) Slice

(D) Cake

Choose the answer figure which most closely
resembles the water image of the question
figure.

» ™ ‘t
ol |l “le® &

{al L kel Id}
(Bl b
Dy d

(A} &
£ c

21

Q14 = 99 4 8 T wen S 87

Hew, Hid, B, TES, W8
(A) #iEeR
(B e

(C) sl
(D) Yz

fag g = genl A @ wEE e 4w

Qs
qEar |
[ (A) wias g - faan |
DEGEETEE

16

Q0117

Jobriya.c et : aw

(D) & @ el

i e o wge w o et g 9
T W 7w B O g TS TEe
Og & i 87

e = R

(A) T
(8) 9%
(C) FIgH
(D) ¥~

Fau oy R 8§ @ ow Beey = asaE
ot g R @ e wialEe B

s o *
o || 4* ol g0 o

s} ikl del fd]
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Q118

Q119

A-FM

Select the odd Neure out of e following
figares:

I ON 2] IS

- L] Ll ]

(A) A
(B) B
€y C
(mb

The given figure is folded on the edges o

form a cube. Find the optiongwhich . T3
LY. Clids gon & o3 w5 @ woel ot ol @0

represents the faces of the cube correctly:

=

a
»

(A)

L
@ | O |*
iy | @

(D

0118 R T aw fasl § 9 = awn fm w®

TEe |

I PON=2] S

- L] L] o

(A) A
(B) B
() C
(D) D

Q1o af fEe e e e Bl & deee o

T T T # | oW e e

W =0T

"

o
L

Jobriya.com

(Ay | *

@ | O |*

{C)

(L)
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0120 Which figure is related to figure 3 in the same
way as figure 2 is related to figure 17

(A}

r
+”+'iu

(B)
L Z
(]
I
T
(0} | &
2z

1120 Select the odd figure out:

(A)

(B)

(<)

(o)

DDO L

A-FMN

_@lI_KIE‘:]r

?

4

i3

Q120 fag o et 4 9 fora 3 fvw 9 i e
yFpe @ g A Rm e fEE a0 w
wrafam 827

;[@][I_?_ ?

4

(A) L

(B)

o |[F7
(L [{:,-

. 0121 F=fafem frdedf 3 ¥ wad e A
YA, G o wea

(]

i

(A)

(B)

@)
L
®

(D)

SET-13



o122 fap T Feedt & a3 s dhe o9
wmre & et & R e o H
g 87

0122 Which figure is refated to figure 3 in the same
way as figure 2 is related 1o figure 17

ek
1 2 3 4

iriyd.Ccq
{1123 Find the odd figure out: ol23 fg o R # 9 wd s RAEe
(=) @ uEer: I
[ﬁ} : ] '_I-.-
(A) :
= T
() 3
{B) 1».
el « N
— (C)
(R - + 15 :
' @ |-
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Q124

0125

4-FN

Consider the given two statements to be true
even i they seem to be at variance from
commonly known facts. HRead the
conclusions and then decide which of the
given conclusions logically and definitely
follows from the two given stalements.
Statcments:

1) Mowindow isa fish.
2% Al fishes are men,
Conclusions:

I. Nowindow isa man.
2. Mo man is a window,
3, Some men are fishes.
4,  Allmen are fishes
{A) Only conclusions 2 and 4 follow
(B) Only conclusions | and 3 follow
(C) Only conclusion 3 follows

() Al the four conclusions follow

Consider the given two statements to be true

Jobriya.co

0124 9 T FeE o e foy oy &) By

MY T B W AN (T aEE R

A T wdiE &), Freed] @ anees

T AR TE T 5w P arfies

afie Fiffas w0 & FeEl 9 59 @A £

T

Iy @i A s Ao T &)

;m:ﬁrwma;wrm

1. & A fasd o= o &) o

2. wE W geAE Raseh 58 &) o

3. HE T WA B |

4. A A AEAl B | e

(A) Py Freard 2 afw 4w (e an)
£l

(R) P Fympd | el 3 (e e wewm
£l

(C) R Fesd 3 wewa e e, #

(D) R P wewe (98 wrn) #

Q125 #1838 wum B T 3, St n

even if they seem to be ar variance fromi ) I{_} riy;‘;? T @i B A (3 Teas @ T

commaonly known facts. BRead the
comelusions and then decide which of the
given conclusions logically and definitely
follows from the two given stalements.
Statements:

17 Some chalks are dusters.

2% Al the dusters are boards.
Conclusions: '@
. Some chalks are boards.

2.  No duster is a board,

&

I-'r.\

(A) Onlyconclusion 1 follows (2

{B) Onlyconclusion 2 follows
{C) Meither conclusion 1 nor 2 follows
(D} Both, conclusions | and 2 follow

23

W e wate 5, Fendl @ aegae
e mE T R am w Preed s
s Fiftea w9 & wa= ® 7 anm B
LR

1) O OTE w2k 4

2y el @ a9 §)

Fovead

| @ s wle i ) -

2. mE f ER a9 T

(A) Rre Fresy | wsm (56 &) ¢
(C) = o 1 af S 8 1 we (e )

2
(D) 1o 1L =M1 & W (e amn) B
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Q26

0127

(128

Qlie

Q130

Consider the following statements to be true Q126 i He Fue s Pt Ry o # Ry
even if they seem to be at variance from . T mEEl @ e A (g e A
commonly known facts. Decide which ofthe TR WA Wana B), aft a8 aan [
given conclusions logically follows from the e o Fased s w0 @ @t | 98
statements. o B
Statermnenls: THe;
1} Some desks are caps. 1) @ Iw6 enar B
2)  Nocap is black, 2y g 8y el T R
Conclusions: Fmn | \
I} Some caps are desks. 1. et & R
11} No desk is black. 11, @ o e A R
(A) Omly conclusion | follows [ia) Fof Foerd | wema (A @) 81 |
(B) Only conclusion [l follows (B TR T 1L wene (fe ) 81
(C) Both, conclusions [ and [1 follow () 1ot 1EE @ e (e ) &)
(D) Meither conclusions | nor 1l follow (D) -0 o afe A E N EERa (e EE)
&l
Find the missing number: 2, 10, 30, 68,7 Q127 sEuiien wo T e 210,30, 68,3~
(A) 101 (A 0]
(B) 102 (B 102
(€) 130
(D) 104 {Dn 104
lobriva
Find the missing number in the }Elgwl:r!g" o %gg-!?ﬂﬁﬁ‘iﬁﬂ Hewll-aimen # aruiid wem
number series: It
4,17,34,53, 76,7 4,17,34,53,76,7
(A) 108 (A) 105
(B) 85 (B) 85
{C) 95 {C) 95
(D) 103 (D) 103
Select the alternative that is related to the Q129 =¢ fAwe & g o A 9= 9 9 wEr
third term in the same was as the second Hift § fae UR oW UG UEd WS H
term is related to the first term. e &
Thermometer ; Temperature ;: Ammeter : 7 eATAEY AR c o UHER 7
(A} Volmeter (A} Tr=wley
(B) Current (B) =1
{(C) Mass (C) e
(D) Encrgy (D) Fal
Which number follows in the given series? Q130 &1 7 sjeen W aTell wem @ Enf?
. 0,2.6,12,20,30,42,7 0,2, 6, 12,20, 30,42, 7
(A) 64 (A) 64
(B} 50 (B) 30

(C) 56 [T :g —
(D) 60 (D]
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0131 Select the alternative that is related to the
third teem in the same way as the second
term is related to the first term,

Dactor : Patient :: Lawyer; 7
(A} Judge

(B} Court

(C) Complainant

(D) Barrister

{132 Select the option that is related to the third

term in the same way as the second term is

related to the first term.

226:15:: 657

(A) 13

(B) 4

{Cy 12

(D} 8

0133 Complete the following number sequence.

2,5, 10,17,26,37, 7

(A) 40

{B) 42

{C) 49

{33 50

If BAN is coded as DCP in a cerizin code
language, what will PAPA be coded as?
(A) BARA

(B) CAAA

(C) ACCL

(0} RCRC

134

In a certain code language, FILE is written
as 7463 and IDEAL 15 written as 43586,
How will DEAF be written in that code
languege?
{A) 3478
{B) 3388
(C) 3587
(D) 4578

0135

IFTRUTH is coded as SUQSTVSUGL, then
how will LIES be coded?

(A) KMIHDFTR

(B} KMHIDFET

(C) HIDFRTKM

(D) KMIHFDTR

Q136

T

Q131 =W fawe w1 T & des T8 9 T SN
wafer # foe wow g uE vEe T 9
wHeferd o |
Fafteys . @l . g - ?

(A) =aramesta

Iff‘} s

K

0132 29 fiwea 1 =999 & A o 7 A 9
wER ek w5 R g gEe um ged
75 ¥ Hafde &)

226:15:65:7

{AY 13
(B} 4
() 12
{8

Q133 Fy=fates sEn-wm & g o |
2. 5,10,17,26, 37,7
{A) 40
R3] 42

Jobriya.com

Q134 ufz faseft Faffen w W # BAN & @18
DCP B85 & ©1 PAPA @ ®18 T 87

(A7 RARA
(B} CAAA
(C) ACCC
(D} RCRC

Q135 ek [affas o2 9 # FILE 3 7465 3i
IDEAL #1 43386 Feran =man 51 §9 o
wmr £ DEAF &7 0 T ame?

(A) 3478

(B) 3588 4
g
o) 4571 5

0136 Tf% TRUTH @ &8 SUQSTVSUGH BT
& o1 LIES 7 78 & g7
(A} KMIHDFTR

[(B) KMHIDFRL |
() 1-IJDFRTKy
(D KMIHFDTE
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Q137 In acode language, if BUTTER is coded as Q137 fah = wm d aft BUTTER #1 Car '

EXWWHU and MILK is coded as PLOIN, EXWWHU 317 MILK 37 Fa PLON BRn
then. in the same code language, how will # o 5o @ A Y EARTH 1 68
EARTH be spelled? ST
(A) HDWUEK (A) HDWUEK
(B) HDUWK
(C) KHDUW (C} KHDUW
(DY KHUWD (D) KHLWD
Q138 Manmohan is the brother of Praveen. How (138 weEigs WA @ omd 8| W o
it Praveen's only sister’s mother's mother aEa W W i '@tﬁh W
related 1o Manmaohan'? i '
(A} Maternal grandmother (A} =L
(B) Sister | {:} i
{C) Aunl (Cy g0
(D) Cousin (D) = e

Q139 Pointing to a photograph Savita says, “Heis Q139 Uh HRTE & A wH & BT wtam

the son of the only son of my grandfather.” Fedl & o W T O UEETs 42 W 42
Haw is the man in the photograph related 1o & | W T OE winn ¥ fw v
Savita? FafeE #7

(8 Bt ‘.

{B) Father -JG:E}H}‘,’L‘-LEG{B! e

(C) Son (€} T4

(D) Uncle (D) =T

Q140 Pointing to a woman, Gita said, “She is the QI40 ye R @ SR e ) By en

daughter of the only child of my ¢ vgm w0 IR A gEE waE i A
grandmother.” How is the woman related to g | wften e @ fem R waE &
Gita? (A) Wil

{A) Niece (B) wH9 "E=

(B) Cousin

{C) Sister ) (D) i

{D) Mother

Q141 What will be the next figure in the given Q141 # g g § apTeRt anpie e BT
seTics?
®:\:[0]

'. s CX1 7 . e

: . . — ‘m} @ ® (@]
A @ ® @)

(©) @ © /e

o (&) o /e

A-FN . SET-13




Ql42

Q14:

Qi+

Q143

A-FN

Find the odd figure out:

@ - @
B -

hoose the Venn diagram that best illustrates
the relationship among the three classes given
below

Rirds, Fish, Chicken.

(A) @ O ® @J
(C) %}r& (D) @

“t sse the Venn diagram that best rllustﬂtﬂﬁ
"¢ relationship among the three classrsﬁﬁm'a
below:

Sports, Foothall, Lizard.
Ty
I,.': 1\ f:__.l

-

i

¥,

{A) (B)

—— .-"'.I __.1-'"‘-\.‘\
o P
)" @ Q)

() [:_:flg_..-'ll

Choose the Venn diagram that best illustrates
the relationship among the three classes given
below:

Pen, Pencil, Paper.

".}'LJ

(A)

© L8

29

Qa2 s ATl @ useE FE)

@ - @
(C) % 'm

> 2

Ql43 =9 39 s & = i o e iy e
& gt & wEw o @vEm edd dEe

afid | o 8
e, wewedl. T
£
w@Olm €
H—‘n ()
) e o (D
Ey % Yo
Q! Fa &7 TR W 99E 9, 91 A R
5’ G o 3 w9 aren T dEER
wie & e B
dF,_mewia, [
o l;:J ?f‘.
(A) "-._.i-‘_! (E) -‘hlx. .-:'.__,‘-‘—'
G ® N
o Q) » &

2145 T A A T uge w o e e
g et @ Waw o wrEm waH dETR

i ¥ T B
we, Ufs, A

00 ~
(A) "',f‘“f,“ 3 (B) “ﬁ:‘-f
© (G0 @(@
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Q46

0147

Q148

Q149

A-FN

Identifv the odd man out in the fipures (A)
1o (E) when the mirror is held at AB.
E

A B C O E B
{A) A
iR B
() C
(M D
The two words in the word pair given below

arc related in a certain way:

Exercise: Fitness

Find the pair in the sets below which has the
same relationship as the original.

{A) Rain: Crops

{B} Practice : Perfection
{C) Sacrifice ; Recognition
{0} Wealth : Happiness

The triplet most similar to (3,16,123) is:
(A) (2,8.81)

(B) {5,36,343)

(€) (8,36,144)

() (7.64.256)

Find the pdd pair out from among the
Ffollowing pairs?

{A) Company : Employees

(M) Team : Mlayers

(C) Ocean ; Ships

(D) Forest ; Trees

an

)46

Q147

Frsr (A) % # (E) T 7t 8 Ha® are
Fora &1 wEErF &9 wa faefl i et AR e

T A
-1
E

1

b

g o w& g™ U 9 weEsr aEn
e & |

M - AgEE

et 9 fBy oy weg godi 5 W FA @
WehlE & WA T e @ BY

(A) aiRT -

(By arra g

QI8

(149

(D) B4 : M

et & & # w B (3.16.125) ¥ widw
wRga o &7
(A) (2,B81)

(B} (5.36.343)

(C) (6,36,144)
(D) (7,64,256)

fay wy aw gl 4 9 wEd e g oW
g |

(A) @ FTER

(B) & - Faard

(C) ¥E - T

(D) a9 : g8
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Q130 Choase the correct mirror image of the object

given from the answer figures:

PO%

Answer Figures;

(A) A
(B} B
€ c
(D) D

Q150 2w v form & uffas @1 9o fwsg
forz d 9 gu7 =9

PTT A



